
Installation Instructions 
Brake Pedal Extension R11xx/1200GS

Mai 2004

Contains:
1 x brake pedal extension top part
1 x brake pedal extension lower part
1 x M5x12 screw
1 x M5 washer
1 x M5 self securing nylock nut

TOURING   RALLYE   RACING    TECHNOLOGY

09-044-0220-1   01-040-0239-1
09-040-0249-1  

These instructions are at our current level of knowledge.  Legal requirements do not exist.  Technical issues subject to change.

Installation:
Lay the top piece on 
the brake pedal as 
shown on top photo.  
Now set the other 
piece under it as 
shown on photo and 
attach with the M5x12 
bolt, M5 washer and 
M5 nylock nut.  The 
two brake pedal 
extension plates 
"sandwich" the brake 
pedal.


